[ Efficiency vs vertpos |
~ 0.7
£0.09
g
20.08
(8]
§0.07
QL
£0.06
0.05,
0.04
0.03
0.02

0.0

~E
o +1-Wfy
= H
© H H B H
o 1 B I & O O O T
0.95[F | N A B E Y 5 alts 351 M A & N i
H "+ HIE

0.9d
1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_TT__mkFit-DQM_original-0

— | —— DQM_TT__mkFit-DQM_original-127
Efficiend _,_ oM TT_mkFit-DOM_mod-127

N~ 00 - - -
e B R -
7] o . . : : :
>0.08F e beeeef e b s
> F . . . . N
2 E : : : : :
L S S B | R S
=] o : . . .
£0.06 - feeess SN (EREE S | IR PR
[} E : : : :
0.05F------ e T | EREPRIT SO
e I (R 11 SO0 8 SR SR
0.03F -++--beoo -t {11 T4 e
0.02F - HUE P T gl - S
X0y USURURCIUNY I L SRS 1 AL SO
PN R |1 N

Vs

Ratio

0.95

[y
TTTT[TTTT[TTTI[TTTT
1
P ST S S P
T
o
+
T
+
+
o
. o
+
&

0.9°

=30 -20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 05
> E E E E E

0-0.45F -+ preyees AR I AR

£ é : : : : :
78 T A S
e S S A
P E : : : : :
e e S
0 E : : : :
o E : : : : :
£0.25------ frrrirreatrenees .
o E : : : :

O S i

(T SRR SUORUE SRR SO 0
0.1 : : Z
Y e T

o
©

o +0f |
= u .
© H 5
o H-+ +1++H{+f-++
| 4+ |-
0.95[ A
H LIET
H o+
]

0 -5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


